UCF

School of Electrical Engineering & Computer Science

CDA 4150  Computer Architecture   

Fall 2005

Homework (Due Nov. 22th 11:59 p.m.)
1.-  Using the linear array explain in class create a powerpoint presentation to show all the steps to execute two matrix vector products simultaneously, say:

 y=Ax and w=Bz. 

The matrices must be 3 x 3 matrices and the systolic array must have only  5 processing elements. 
a) How many steps are necessary to carry out the simultaneous computation?

b) Assuming that the input vector is called the carrier vector, where in the carrier vector are store the elements of  x?
c) Where in the output vector are store the elements of w?
 Send your presentation to eurip@cs.ucf.edu


























































































